iris data

AL2 0[] iris (% Cl0|E])

x=29| Z} BE9| L{H|et Zo|5= £T¢ H0|H

H|O|E £A| https://iwww.kaggle.com/datasets/saurabh00007/iriscsv

Gl0IE| colum 2jO]

id : Thes = A EA|

SepalLengthCm : Z£2H&o| Zo| HE / £Hel: cm
SepalWidthCm : 29| L{H| ME / £t cm
PetalLengthCm : £22| Z0| & / H2|: cm
PetalWidthCm : £22| L{H| & / tt|: cm

Species : 2| 7 X / 37 setosa, versicolor, virginica

ool E| 2ol

; Id SepalLengthCm SepalwidthCm PetalLengthCm PetalWidthCm  Species
5.1 35 14 0.2 Iris-setosa
2 2 4.9 3.0 14 0.2 Iris-setosa
3 3 47 32 13 0.2 Iris-setosa
4 4 4.6 3.1 1.5 0.2 Iris-setosa
5 3 50 36 A 0.2 Iris-setosa
& G 54 39 i 04 Iris-setosa
7 7 4.6 34 4 0.3 Iris-setosa
a a 50 34 15 0.2 Iris-setosa
9 g 4.4 2.9 4 0.2 Iris-setosa
10 10 49 31 15 0.1 Iris-setosa
11 11 54 37 1.5 0.2 Iris-setosa
2 12 48 4 16 0.2 Iris-setosa
3 13 4.8 3.0 14 0.1  Iris-setosa
4 14 43 30 1.1 0.1 Iris-setosa
5 5 5.8 4. 1.2 0.2 Iris-setosa
G G 57 44 15 b4 Iris-setosa
7 7 54 39 13 b4 Iris-setosa
8 8 3.1 35 14 0.3 Iris-setosa
g g 57 38 1.7 0.3 lIris-setosa
20 20 3.1 38 1.5 0.3 Iris-setosa
2 21 54 4 1.7 0.2 Iris-setosa
22 22 3.1 37 1.5 b4 Iris-setosa
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https://www.kaggle.com/datasets/saurabh00007/iriscsv

1. HolE] 2MA|, 228lE= 1dEHS Qo1 SpeciestlM ERTU LILQEE HEFG}Y|

2. BF(null)o] R=X| Eolst|

1. C|O|E| HE MEd TiCH HA value 8

5 Ex) Ex) b @

iris data 2L 09 2L EE  ERvalueE 2oE

£ =ZE_Z0 =ZE_HY| =% 20 =% HH FF

1 3. 35 4 0.2 setosa
2 49 30 14 0.2 setosa
3 47 3.2 1.3 0.2 setosa
4 46 3 15 0.2 setosa
3 5.0 36 14 0.2 setosa
6 54 39 1.7 1.4 setosa
7 46 4 14 0.3 setosa
2 5.0 4 1.5 0.2 setosa
g 44 29 14 0.2 setosa
10 49 3.1 1.5 0.1 setosa
11 54 37 15 0.2 setosa
12 48 4 1.8 0.2 setosa
13 48 30 14 0 setosa
14 43 3.0 1.1 0 setosa
15 58 4 1.2 0.2 setosa
16 5.7 4.4 1.5 4  setosa
17 54 39 13 14 setosa
18 51 35 14 0.3 setosa
19 5.7 38 1.7 0.3 setosa
20 51 38 15 0.3 setosa
21 54 4 1.7 0.2 setosa
22 51 37 15 14 setosa
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Filter rowsE S3lf Z2Z&240| EXHst=X| &lst7|
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Group byE Sl ZFE=

iris data gL = LI HE  ER value =3 228 m Z|CHZk
",
A\\
Hs
F| gk
bl
£ =5 Er =28 _Z0 FHo_=gE_4y Er =¥ 20| Er_=% 44|
setosa 5.008 3418 1.464 0.244
wversicolor 5936 277 476 1326
3 virginica 6.588 2.974 5.552 2.026
E|CHak
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: z8 M = _HH| HFz_ =g _HH| FHT_=E_HH| 4 =g 4 O =g 4 BEEEA =Y 20|
1 setosa 50 0.244 0.2 01 0.6 0.1061319933
2  versicolor 20 1.326 1.3 1.0 1.8 0.1957857654
3 virginica 50 2.026 2.0 14 2.5 0.2718896835

12 A B ceioca
B ersicalor
B irginica

14 B ceioca
B ersicalor
B irginica

Frequency

A7J|&= B E setosa < versicolor < virginica =212 & 4= 7,
299 A2 setosa’t CHE FF0|| Hlsl Bo| RCH= A & 2 AULCH

iris_data



=}
a._.__
0
21

e
=

2 _HH|
2y 20|

me
=

EL

ol

-

= UH|

2 _E0|

2E_Yo| BEH |

e
=

Z0|9t 29 L4H|7} 0.962 2 A7t 2

an
e

ofct.

A7 S

=0

-0.112 00| 712 7| iy

=
—

LH]

iris_data



